5 17 4 1 9 SUMami

16 3 4 8 1 5 15 11 9 13
12 18 7 12 30 27 10 22 18 28

15 6 6
8 10 18 Fill in some of the cells in the grid using digits from 1 to
6 11 11 9 according to the following rules:
613 (1) No row or column may contain the same digit more
3917 than once
(2) The numbers above and to the left show the totals
921 14 of each group of adjacent numbers in the relevant
18177 row or column
6 26 12 (3) There must be one or more blank squares
7 23 separating the groups from each other.
13 5 12 Thus, a clue of 5 13 12 might lead to

5-4126--93.
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